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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 21514 8.1 2.5 11 74.1 100
2 21471 4.7 2 8 59.2 99.8
3 20497 2.5 1.4 4 62.9 95.2
4 21412 2.8 1.3 4 69.7 99.5
5 21284 4.6 1.9 8 57.1 98.9
6 20966 2.9 2.1 6 48.6 97.4
7 21334 2.6 0.8 3 86 99.1
8 19619 23 1.5 4 56.3 91.2
9 19519 1.1 1 3 37.2 90.7
10 21416 2.4 1.4 4 60.2 99.5
11 20135 3.2 2.6 8 39.5 93.5
12 20462 3.4 2 6 56.7 95.1
13 20158 2.4 2 5 47.8 93.7
14 19608 2 2.1 5 39.8 91.1
15 17339 0.7 1.2 5 14.6 80.6
16 16964 1.2 1.7 6 20.1 78.8
17 20597 0.8 1.2 4 19.9 95.7
18 17872 0.1 0.4 3 2.6 83
19 14913 0.2 0.7 3 8.2 69.3
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You musl expian your arswer clearly.
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11. (60 shirts at £8 each, 60x8 =£) 480 Bl

(Selling Price for profit of 50% =4£) 12 Bl

(15 shirtsat £12 =15x12 = £) 180 Bl F.T. 'their £12' but NOT £8 for this B1 ONLY

(Reduced selling price =12 -5 =£) 7 Bl F.T. 'their £12'

(45 shirts at £7 =45 x 7 =£) 315 Bl F.T. 'their £7'

Having the (£)495 and (£)480 and stating “profit’ Bl Correct conclusion on their figures

OR (£)15 profit Do not penalise an incorrect evaluation of their profit

Alternative method using ‘Profit’

Considers profit on full price shirt AND loss on 51

reduced price shirt.

(Profit on one shirt = 50% of £8 = £) 4 Bl

(Profit on 15 shirts = 15 x4 = £) 60 Bl F.T. 'their £4'

(Loss onone shirt=£5-£4=0) 1 B1 F.T. 'their £4’. Could also be profit of ‘—(£)1’ eic

(Loss on 45 shirts =45 x £1 =£) 45 Bl F.T. 'their £1'

Having the (£)60 and (£)45 and stating “profit’ Bl Correct conclusion on their figures

OR (£)15 profit Do not penalise an incorrect evaluation of their profit
Look for QWC

¢ spelling 2

e clanty of text explanations,
e the use of notation (watch for the use of *=", £
being appropriate)
QWC2: Candidates will be expected to
e present work clearly, with words explaining
process or steps
AND
¢ make few if any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer
QWCI: Candidates will be expected to
s present work clearly, with words explaining
process or steps
OR
¢ make few if any mistakes in mathematical
torm, spelling, punctuation and grammar and
include units in their final answer

QWC2 Presents relevant material in a coherent and logical
manner, using acceptable mathematical form, and with few
if any errors in spelling, punctuation and grammar.

QWC] Presents relevant material in a coherent and logical
manner but with some errors in use of mathematical form,
spelling, punctuation or grammar .

OR

Evident weaknesses in organisation of material but using
acceptable mathematical form, with few if any errors in
spelling, punctuation and grammar.

QWCO Evident weaknesses in organisation of

material, and errors in use of mathematical form,

spelling, punctuation and grammar.











You musi explan your arswer clearly.
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Sticky Note

Simple arithmetical errors like 
60x8= 420 cost marks.



Sticky Note

Simple arithmetical errors like 45x7= 329 cost marks
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Sticky Note

Simple arithmetical errors like 
15x12=190 cost marks and further down 7x45 = 360.



Sticky Note

Candidates frequently reverse operations as 290 - 360 rather than 360 - 290.










N —— s e e FEETE T T | "B ]

LG5 * w0 I
- & L = .

N E———CEE N SENCE N N CEESEC N S CEENS NS TN M S TEN M CoN e e o § B

Tim buya 60 shis ek 15 el

Tesa . e fsclie 15 shivs frr fro whad -
Cfawe o Them e cideses  dRe prsa e
e s g s selle LE abide  adid gles |
PR T S S o ¢ P ——
i P R -mrt-i-_.diiii e

————— W EeEs mm a © 8 =




Sticky Note

Far too many candidates work out their calculations then write an 'essay' afterwards.
The purpose of QWC questions is to encourage candidates to explain their steps by annotating their work.










1.

You will be assessed on the quality of your written communication in this question.

Tim owns a clothes shop.
He buys 60 shirts at £8 each.

The selling price of each shirt is worked out so that he makes a profit of 50% on each shirt.
He sells 15 shirts at this price.

After a few months Tim reduces the selling price of each shirt by £5.
He then sells the remaining shirts at this reduced selling price.

Has Tim made a profit or loss?
You must explain your answer clearly. [8]

Examiner
only
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* the time at which the machines were stopped for maintenance
« the number of forks produced between 2 am. and the ime the machines were
for maintenance.
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14. For spoons: sight of 450+180 OR M1 OR 3(spoons per min) or 30(spoons m) 10 mins
sight of 450 split as 360, 90 or 180, 180, 90
(Machine stopped at) 11(:)30 (am) A2 Al for 2.5 (hours) or 2 hours 30 minutes or 150 minutes
For Al allow poor or incorrect notation of time, e.g. 2.3 hrs
For forks: 240 x25 OR M1 FT “their 2.5 hours” or ‘their 150 minutes’
240+60 = 4 (forks per minute) and (4)x 150 or
equivalent

600 (forks) Al FT “their 2.5 hours’ provided not a whole number or ‘their
150 minutes’ provided not a multiple of 60

Alternative if the time peviod is not considered

(for max 3 marks):

M1 for an attempt to find the multiplier1 80 < ... =450,

e.g. 18:24 and 450+18 (=25),

M1 for a final calculation that could lead to a correct
answer, e.g. applying the multiplier to the vight hand side of
their ratio, for attempt 24x450+18

Al for 600 forks
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Sticky Note

Many candidates could not calculate the number of forks produced even from a correct stoppage time.
90 was a frequent incorrect number of forks made in half an hour.
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Sticky Note

Very many candidates gave the answer as 2 and a half hours rather than 11:30am.










* the time at which the machines were stopped for maintenance
« the number of forks produced between @ a.m. and the ime the machines were
for maintenance.
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Sticky Note

Once again, candidates failed to find two and a half times 240.










14. In a factory there are two machines.
Machine A makes plastic spoons and Machine B makes plastic forks.
Both machines work at a steady rate.

Machine A makes 180 plastic spoons per hour. r
Machine B makes 240 plastic forks per hour. v

Both machines start their production on a Monday morning at 9 a.m.
Both machines are stopped for maintenance after 450 spoons have been produced.
Calculate
* the time at which the machines were stopped for maintenance
e the number of forks produced between 9 a.m. and the time the machines were stopped
for maintenance. [5]











(a) Calculate the scale of the map, giving your answer in the form 1 : 2)
everg  Tem 0N the  map  equals 25 Wilometus
traveled.











(b) The journey from to Du A
Calculate the average speed of this journey.
Give your answer in kilometres per hour. [3
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(b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.

Calculate the average speed of this journey.
Give your answer in kilometres per hour.
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15. (a) 1 cm represents either M1 Do not accept 4 cm represents 100 km (given in question)
25km or 25000m or 2500000cm An answer of 1 : 25 is M0 (and A0) however allow 1:25
km for M1
1:2500 000 Al 1:2.5 million
Allow 1: 2 500 000cm (must be within a ratio)
15.(b) 100/ 2hr 30 min or 200 km in 5 hours M1 Accept time written incorrectly, for the idea distance /time,
e.g. 100/2.3, 100/150
100/2.5 or 200/5 ml Alternatively M1, m1 for 20km in 30 minutes
40 (km/h) Al Sight of 40 irrespective of units given











(a) Calculate the scale of the map, giving your answer in the form 1 : 2)
everg  lem 0N the map  equals 25 kilometus
traveled.
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Sticky Note

Candidates either did not gain any marks for part (a) or gained 1 mark for giving the scale as 1:25km.










(b) The journey from to Du :
Calculate the average speed of this journey.
Give your answer in kilometres per hour. [3
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Sticky Note

Although candidates often quoted the formula for speed correctly, 230 and 2.30 were frequently their incorrect conversion of 2 hours 30 minutes.



Sticky Note

Some of their calculations bore no relation to their 'intended' division.










(b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.

Calculate the average speed of this journey.
Give your answer in kilometres per hour.
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Sticky Note

Others again worked on the 
'biggest'/'smallest' with complete disregard for units.
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19. A hollow cylinder is made with an internal radius of 4cm and an internal height of 10cm.

10cm

Diagram not drawn to scale

Carwyn says
‘This cylinder holds approximately 5 litres of liquid.

By estimating & as 3, show whether Carwyn is correct or not.

You must show your working and give a reason for your answer. [3]

END OF PAPER

22
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Carwyn says
‘This cylinder holds approximately 5 litres of liquid.
By estimating x as 3, show whether Carwyn is correct or not.
You must show your working and give a reason for your answer. [3]
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Carwyn says

‘This cylinder holds approximately 5 litres of liquid.
By estimating x as 3, show whether Carwyn is correct or not.
You must show your working and give a reason for your answer,
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Sticky Note

Simple arithmetical errors were often encountered.
Very many did not know how to compare their answer with 5 litres.











You must show your working and give a reason for your answer,

e B = 2" R
92 ey = | 28

L T PO PN R e e

2 X220 > le = ke

I LT T T TPV PP -

ae i am g e LT RN T L DR R T T RSP OSSap

- -Q.Q..f.‘.yi} 0.V . N Coveeh a5 45 pet

S lbkies e, 2 Lo hbes

S eree e wsceeer sroarieces weoae Ah HAAALESSE s B b e b e S a4 | e h ek g e

B 8800040t bmaatd $o ol A R R A SRR ¢ bl e b i £8 A i 4










You must show your working and give a reason for your answer. (3]

2. Xx2>T1 > le = Ukeo
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Sticky Note

Many candidates could not evaluate the 'squares' correctly.
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Sticky Note

Very many did not know how to compare their answer with 5 litres.
This candidate directly compares 480 with 5.











19. Volume = 124*x10 or 3x4°x10
480(cm’)

Conclusion, e.g. “incorrect as it is approximately {0).48
litres’, ‘no he is wrong it holds about 480cm’ not
5000cm®’, “no he is incorrect as it is 4520cm>
difference’

M1
Al

El

[SW (change of units). Ignore units given for Al, but they
must be correct in order to award E1

160 m gets M1AO

‘No’ or “incorrect’ may be implied. The reason must be
showing comparison (like units), e.g. 0.48(0) (with 5 litres),
ar 480 with 5000 (cm’), or 480cm® approximately 500cm’®
with 5000cm*

FT ‘their 480 (cm”) provided M1 awarded and ‘their 480°
has dimensionally correct units for comparison with 5 litres







19. A hollow cylinder is made with an internal radius of 4cm and an internal height of 10cm.

10cm

Diagram not drawn to scale

Carwyn says
‘This cylinder holds approximately 5 litres of liquid.

By estimating & as 3, show whether Carwyn is correct or not.

You must show your working and give a reason for your answer. [3]
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